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PART A: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct
choice on your answer sheet.

76- Compared with the adults, the teenagers used a different part of the brain for

processing information when they ... asked to see a series of pictures.

1) was 2) have been
3) were 4) have
77- The driver, who wasn’t paying any attention to the traffic signs, hurt the animals crossing the
road, ...?
1) did he 2) was he
3) didn’t he

4) wasn’t he
78- Global warming is the average increase in the Earth’s temperature,

.. in climate and rainfall
patterns.

1) whom cause change 2) which causes changes
3) which cause changes

4) whom causes change

1) repeatedly 2) suddenly
3) accidentally 4) effectively

79- You can use an electric toothbrush, which removes germs more ... than a traditional one.

80- The board members agreed to give him a ten percent raise as they all knew he was a real ... .
1) treasure 2) entry
3) knowledge 4) mission

81- Researchers have found that nearly all the information we need to ... a face is available in lines of
the eyebrows, the eyes, and the lips.

1) respect 2) recognize
3) recommend 4) reflect
82- The president decided to ... a large amount of money for the study on the coronavirus and
finding ways to fight it.
1) experience 2) forgive
3) compile 4) dedicate
83- In order to improve your score in ... exams, you must know which word form to use in a specific
sentence.
1) oral 2) positive
3) meaningful

4) compound
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84- We can’t continue to imagine that the problem of homelessness doesn’t ... in this city.
1) provide 2) regard
3) exist 4) develop

85- Parents usually teach their children about moral and religious ..., correct manners, and setting

suitable educational goals.
1) quantities 2) principles
3) abbreviations 4) synonyms

86- Dr. Jones treats a wide range of medical conditions but often refers his patients to specialists

when those patients need ... medical care.
1) distinguished 2) complicated
3) advanced 4) communicative

87- After years of research, scientists have ... the virus that is responsible for the disease.

1) recommend 2) identified
3) created 4) translated
88- Over the past few decades, the approach to protection of our cultural ... has changed.
1) generation 2) symbol
3) heritage 4) information

89- His eyes, which had been filled with fear and horror moments ago, were now clear and almost ... .

1) calm 2) neat
3) attractive 4) useful

90- Suddenly I was forty years old, and I was standing in the place where my dreams were ....

come true.
1) arranged 2) introduced
3) supposed 4) expanded

to

PART B: Cloze Test

on your answer sheet.

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice

You’ve never been worried about overpopulation, ...(91)...? But experts tell us that if it is not

brought under control, population growth will cause a serious problem in the world’s food supply in

a few years. An ...(92)... in population will also take up the space for living on the Earth. Many

people are not aware of this problem. Besides, world leaders, ...(93)... must always think about

public reaction, find the problem difficult to solve.

Improvement in food production and distribution, however, is something that everybody

understands its significance. Likewise, water-saving that is ...(94)... for food production and other

human activities ...(95)... by most people, but this growing population will probably never find a

balance.

91- 1) has it 2) haven’t you 3) have you 4) hasn’t it
92- 1) increase 2) inspiration 3) instance 4) installation
93- 1) whereby 2) who 3) whom 4) which

94- 1) fortunate 2) grateful 3) touching 4) necessary

95- 1) is supporting 2) is supported 3) are supporting 4) are supported
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PART C: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice

on your answer sheet.

Americans this year will swallow 15000 tons of aspirin, one of the safest and most effective drugs
invented by man. As the most popular medicine in the world today, it is an efficient pain reliever. Its
harmful effects are relatively moderate, and it’s cheap.

For millions of people who have arthritis, it is the only thing that works. Aspirin, in short, is truly
the 20th-century wonder drug. It is also the second-largest suicide drug and is the leading cause of
poisoning among children. It has side effects that, although relatively mild, are mainly unrecognized
among users.

Even though a German company first sold aspirin in 1899, it has been around much longer than
that. Hippocrates, in ancient Greece, understood the medical value of the leaves and tree bark, which
today are known to contain salicylates, the chemical in aspirin. During the 19th century, there was a

great deal of experimentation in Europe with this chemical. It led to the introduction of aspirin.

96- What is discussed in the first paragraph?
1) What aspirin is made of 2) The advantages of aspirin

3) The side effects of aspirin 4) The Americans’ drug problems

97- The word “wonder” in paragraph 2 is closest in meaning to ... .
1) strange 2) harmful

3) effective 4) inventive

98- According to the passage, which statement is NOT true?
1) Aspirin is the only solution for people with arthritis.
2) Aspirin can cause poisoning.
3) For the most part, aspirin’s side effects go unnoticed.

4) The ancient Greeks were the first nation to sell aspirin.

99- According to the passage, the importance of aspirin lies in ... .
1) the great variety of ways it can be used effectively
2) its side effects which are widely known
3) being the major cause of drug poisoning among children

4) the fact that millions of people turn to it as their last hope

100- Why does the author mention Hippocrates in paragraph 3?
1) To show that the Greeks were largely interested in the use of aspirin
2) To emphasize the Greeks’ key role in medical discoveries
3) To clarify the fact that aspirin had been discovered long before the 19th century

4) To make the text more believable



